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Public Administration
Paper III

TNRAITEA

gyutreRt 111
Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions. Each
carrying Two (2) marks. Attempt All questions.

GOl : A YA THY Ueew (75) Igaar YA fol oTRd. Uoieh TR | (2)

U SRd. @E U Wi

Assertion (A) and Reason (R)
pattern :

Assertion (A) : In UK the
executive is a
part of the
legislature.

UK did not adopt
the principle of

Reason (R) :

separation.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

fagum™ (A) e7for &Ror (R) 99 :

faam A) @ TToeHS HESRNOT §
HASHSHE T 3T,
&RUT (R) : foemm favyew= 9«

TeheTel ATl

arel feoen SehdieH T drEa g

et .

U

(A) (A) 9 (R) 3=l sRI&X 3Tled U1
(R) T (A) o T TILHI Y

(B) (A) 9 (R) Tl s{sX 37ed, T
(R) T (A) o T TILIHI AR

(C) (A) T IR R, WG (R) T IH
3

D) (A) T g% 3%, W (R) § SN
3

[P.T.O.



While discussing a budget, the

legislature cannot :

(A) given assent to the demand
(B) reduce the demand

(C) refuse the demand

(D) increase the demand

The Parliamentary Commissioner

for administration was appointed in

the UK in :
(A) 1957
(B) 1959
(C) 1967
(D) 1968

In the USA the spoil system was
discarded in favour of the ‘Merit

Principle’ by the following Act :
(A) Civil Service Reform Act, 1978
(B) Pendelton Act, 1883

(C) Hatch Act, 1939

(D) Civil Service Act of 1853

MAY - 21316/III—C

AAGFHeuEaR I=f wHear fafedes

foeTael JRIEATEe 9eeE SATET]
THUR AHTC HL0A Sl

(A) 1957
(B) 1959
(C) 1967

(D) 1968

AN A N + ¢
IREHALT WIeTadehl hIvTHT ST
EUGl ATRIEA T[Ule el Flehi

shell gl ?

(A) AR ¥ GURUT FHEET, 1978
(B) USwed ST, 1883
(C) 89 <h1IEl, 1939

(D) AR FaT w1EEl, 1853




Assertion (A) Reason (R) Pattern :

Assertion (A) : France is more
unitary  than

Britain.

Reason (R) : In Britain, local
government enjoy
a certain degree

of autonomy.
Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21316/III—C

faum™ (A) s7for &R (R) 99

faam A) ;@ W foeTdan S
THIH 3.

iUt (R) ToreTae Tenfeh oA
FE SN Tl
SYHNTT.

Trell e Sehdarhmygd I g4

faer

Hehdich :

(A) T (A) T (R) SRR 3T, SO
R) T (A) 9 IY TR 3T

(B) T (A) 9 (R) SR fed, TUI
R) % (A) 3 Ir9 LR ATEL

(C) (A) T SR 38, 90 (R) § I
3R

(D) (A) T I TR, 997 (R) T R
3

[P.T.O.



As a control process budget has a

role of :

(A) Political

(B) Economic

(C) Moral

(D) Developmental

Classical approach to budgeting

supports :

(A) Deficit Budget
(B) Surplus Budget
(C) Balanced Budget
(D) Growing Budget

Which is not a feature of diffracted

society ?

(A) High Differentiation
(B) Functional Fusion
(C) Universal Norms

(D) Achievement Orientation

MAY - 21316/III—C

CHEREEIC IR E LI EE i B Ca

.............................. .
(A) TS

(B) efefen

(C) i

) REEIRIRED

FETSTITehT SAHSIA gfeeehla Rl

FASTSIYSThTeN UTfcel <.

(A) I SETI=H

(ol

(B) Afafem siererase

(C) wgfera TSI

(D) 9@ ST

fafeRa TSI TeiTeTish! SR TS
E

(A) stferhan faveritentor

(B) whrEicHs HiHsm

(C) ot frm

(D) W=t Ao




10.

Bureaucratic Development in
democratic countries are considered
to be :

(A) Positive
(B) Welfare oriented
(C) Antithesis

(D) Democratic

Assertion (A) and Reason (R)
pattern :

Assertion (A) :

Civil servants are influenced by

political executives in their work.
Reason (R) :

Civil servants put up only such
proposals that are likely to be
approved by the Ministers.

Select the correct answer by using
the codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is the
explanation of (A)

not correct

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

10.

MAY - 21316/III—C

ATHIMET IIMd TR TaamTH
.................... W a-l_fﬁ.

(A) HPRIHER

(B) oA AT

(C) folrenvres

(D) RIS

faur (A) enfor RO (R) T ¢
fagm A) :

MEhTT AR A=A TR ASTh 1
FHESE G9E gedl.

T (R)

AT AU g WhR &l
STt T Yeh<ol TSR HATIR

SN

feeiedn FehdieHYd Ird Tt

Hehdich :
(A) (A) g (R) T2l s 2A1_d 3701
(R) T (A) 3 T TRH TR

(B) (A) g (R) Tl e 3T&d, qul
(R) T (A) o T TILHI

(C) (A) T SR 38, 90 (R) § I
3T

D) (A) T I 3%, 997 (R) T R
3Te

[P.T.O.



11.

12.

If the President wants to resign, he

shall address his letter of

resignation to :

(A) Chief Justice of India

(B) Prime Minister of India

(C) Vice-President of India

(D) Speaker of Lok Sabha

The Administrative Head of the

State Administration is ............... ;

(A) Governor

(B) Chief Minister

(C) Chief Secretary

(D) Finance Commission

MAY - 21316/III—C

11. TOHEMET I U5 SOt @eierdeh]

HIUMhe HUad ?

(A) YIRAT=l T&I AT

(B) YRAr™ Gdgem

(C) YRAre SRS

(D) SArHEYET FYTIdr

(A) T=IUTA

(B) &

(C) H&A Hfdua

(D) fo smam




13.

14.

The Chief Secretaries Conference is

presided over by :

(A) Governor

(B) Chief Minister

(C) Union Minister for Home Affairs

(D) Cabinet Secretary, Govt. of

India

The executive power of state in India

isvested In ...coovvvvvvnvennnnnnn. .

(A) Governor

(B) Chief Minister

(C) State Cabinet

(D) State Administration

13.

14.

MAY - 21316/III—C

ey g trﬁ:qé%ﬁ e
AT

(A) TSI

(B) &=

(C) & Tefaymr Wit

(D) HEIEATE HiAHSes Hiad
TRAHE BRFABRT FAT oo

[P.T.O.
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15. Match List I with List IT and select | 15. ¥t I 3ft = II & Sesen 301 @it
the correct answer from the codes feoTed gq;qiqmb Q7 3k e
given below : W .

List 1 .
. (@) G A

() Attached Offices

(b) THA FHEEH
(6) Subordinate Offices )

(c) WA
(¢) Ministry

(d) wfaae™
(d) Secretariat

gt 10
List 11

(1) foeqa Sufaym
(1) Largest Subdivision

(2) wEeN feemesH
(2) Executive Direction

(3) ®ror fafHat
(3) Policy Making
(4) Field Establishment (4) &
Codes : :
A 1 @ B @ A 1 @ 3 @)
B 2 @ @ O B 2 @ @O O
©C @ O @ B @ C) @ @ @3 @
O 1) @ 2 3 DO 1 @@ 2 3

10



16.

The functions of Union Public

Service Commission can be extended

by :

(A) President

(B) Prime Minister

(C) Parliament

(D) Ministry of Personnel

MAY - 21316/III—C

16. o ARTal STENT=AT =] fasR

JAER. Shedl 1S ITehdl.

(A) TeITEaed

(B) gdquem=

(C) %

(D) HIfHer HATAT

17. The classification of services in India | 17+ SHCIi1pl PIoTT e TR T
NN ~ ~ NN Y
is governed by the : Holdl S1ehTUl ehelel 3TR
AR Yl el 0
(A) Civil Service Rule, 1930 &) , 193
(B) RI Eell shIE&T, 1950
(B) Civil Service Rule, 1950
(C) Civil Service Rule, 1960 (C) TR Ha FIAI, 1960
(D) Civil Service Rule, 1987 (D) R a1 S, 1987
11 [P.T.O.



18.

19.

20.

The primary function of Personnel

Administration is :

(A) Recruitment

(B) Training

(C) Manpower Planning

(D) Position Classification
Manpower planning precedes :
(A) Recruitment

(B) Training

(C) Selection

(D) Probation

Informal Training broadens an

individual’s :
(A) Faculty
(B) Knowledge
(C) Efficiency

(D) Relations

18.

19.

20.

MAY - 21316/III—C

HfHe g™ Mg
7 o

=T UfRTeIo SHe= Eelte
eoar foeqid 8

(A) TR
(B) 9™
(C) hTderHan

(D) oy

12



21.

Which of the following report deals

with the relations between the

specialists and generalists ?

(A) Haldane Committee Report

(B) Sarkaria Commission Report

(C) Fulton Committee Report

(D) Kothari Committee Report

21.

MAY - 21316/III—C

EATeTdeh! ShIUAT 3TgaTel fersioe 3rfor

YR TR ffeq o ?

(A) Bood At eTeaTd

(B) Gl MM 3Tedra

(C) Hoted |iHdl st@ara

(D) S8R Il TedTa

22. Reservation for the Scheduled 22. 9Mihd S/ STHIAIHIS] HOHEd  STaT
Castes and Scheduled Tribes in the URAT Seqd hI0edl shaAqmee
services has been provided in the feorey e 2
Indian Constitution under ................ .

(A) ohctH 315
(A) Article 315
(B) <hetH 335
(B) Article 335
(C) hedH 365
(C) Article 365
(D) <hetH 375
(D) Article 375
13 [P.T.O.



23.

24.

The TUnion Public Service

Commission of India has been

established under the

....................

the Indian Constitution.

(A) Article 315

(B) Article 320

(C) Article 325

(D) Article 335

The Railway Budget was separated
from the Central Budget in the

S22 .

(A) 1920

(B) 1921

(C) 1922

(D) 1923

23.

24.

MAY - 21316/III—C

T Ak AEE YRS Seqeie

T FAMFTT  HOAT

(A) <hetH 315

(B) &eH 320

(C) hetH 325

(D) sciH 335

~ .

4 SHAQISTYAhHI/]

I NS

(A) 1920

(B) 1921

(C) 1922

(D) 1923

14
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25. The term ‘Performance Budget’ was 95. FdEl SETEE @ S e
coined by :
T Jafad Siel.
(A) Administrative Reform
Commission (A) T GUR S
(B) Second Hoover Commission of
AT
USA (B) S TR (/T
(C) Estimate Committee of India ©) . At ()
(D) First Hoover Commission of
— (D) dufget goeX oTEr (3THRER)
26. The number of demands in the | 26. WA FSTHUARTd T C©=ET=AT
1 budget for civil dit . .
general budget for civil expenditure e T .
is :
(A) 103
(A) 103
(B) 106
(B) 106
(C) 102 (C) 102
(D) 109 (D) 109
15 [P.T.O.



27. Match List I with List IT and select

the correct answer from the codes

given below :

(@)

(b)

(c)

d)

(1)

(2)

3)

(4)

List 1
Cash budget
Dual budget
Revenue budget
Single budget
List II
France
Britain
USA

India

Codes :

@ & (@ @

@A 2 @ & @

B) @ 3 @ @

© 3 1 @ @

M 3 @ @O @

MAY - 21316/III—C

27. = 19 g 11 o e Ao el

feeied Fehdiehlqd ard 3ar faer :

et 1
(@) U@ S1eddeney

(b) fg srduseq

() TegA TAFRTY
(d) Th FdEHTT
e 11
(1) %

(2) Tored

(3) =

(4) ¥d

- -
-
-

(@)

A) (2)

(B) 4)

(ONE))

D) 3)

(®)

4)

3)

(1)

(4)

(c)

3)

2)

4)

(1)

()

(1)

(1)

(2)

(2)

16
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28. Audit in India is governed by : 28. WRAWEA Tl ®E AER FEt wd
S
(A) Constitution
(A) TSTEET
(B) Act
(B) a1
(C) Executive order
(C) HE&N 3T=T
(D) British Legacy (D) foder wOq
29. The Union Government allocates | 29. SHEIMEA ®Edh Jsayiar =~
development funds to the states Foarad faer fqe=nt faurmon .
under article :
(A) 268
(A) 268
(B) 282
(B) 282
(C) 284
(C) 284
(D) 285 S
17 [P.T.O.



30. Match List I with List IT and select

the correct answer from the codes

given below :

List I
(@) Finance Commission
(b) Comptroller and Awuditor
General
(¢) Commissioner for SCST
(d) Central Administrative
Tribunal
List II
(1) Plural Body
(2) Created by an act of
Parliament
(3) Under Central Government
(4) Common to Centre and the
States
Codes :

@ b)) (@ (@

@ 3 @ @ @
B @ 3 @ @
© @2 @ @O 3
M @1 @ @ @

MAY - 21316/III—C
30. g I 9 §=l 11 o Seoa U1 @il
feeiedn Hehdlehlqd ard e feel :
il |
(@) Tom

(b) ATl o HeEreEmTd

(c) oFficha SITCH-STHIIT ST

fal

T YR AT

et 11
(1) 9ga @

d) =

(2) HHG= wEeEH FHd

(3) hg TEATAT 3T

(4) g e T TG HHN
Hehdich :
(@ b)) (@ (@
A 3 @2 @ @
B @ 3 @ @
< 2 @ @O 3

O O @ B @

18
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31. Which of the following is the first 31. TeeA R RO ufeeh T
step in starting the Research
TeATeAdeh! IO 3T ?
Process ?
(A) Searching sources of (A) &3t ga=ar Arfgdia e
information to locate problem .
(B) Survey of related literature
(B) Tefyq Tifgcams Taeor
(C) Identification of problem
(D) Searching for solution to the (C€) e
problem (D) 9HE=A 3UEEE] Y
32. A hypothesis should always be : 39, TR gy T
(A) Interrogative (A) I
(B) Analytical (B) CFRELIRIED
(C) Descriptive (C) FuicHSR
(D) General (D) "H™
19 [P.T.O.



33.

34.

The interpretative phase in research

design means :

(A) Data collection

(B) Data editing

(C) Data coding

(D) Data analysis

74th Constitutional Amendment does

not apply to which of the following ?

(A) Municipal Corporation

(B) Metropolitan Corporation

(C) Nagarpalika

(D) Group Gram Panchayat

33.

34.

MAY - 21316/III—C

TYNEA ANTESArd e =a-Tedess 2o

1%01@[ :

(A) wifedt HepeH

(B) Hifed! Hued

(C) Trfedt Gfgar

(D) wifeat fawerson

N . LN a
CININEEJREIREEN 74& el gl shalH

AN B A ?

(A) HHMEYA HTIRIA

(B) AR fm

(C) TRUTfeTehT

(D) T THIEEd

20



35.

36.

Which of the following is not a

“graphic representation” ?

(A) Pie chart

(B) Bar chart

(C) Table

(D) Histogram

In which year the Municipal

Corporations were set up in Bombay

and Calcutta ?

(A) 1687

(B) 1726

(C) 1909

(D) 1924

35.

36.

MAY - 21316/III—C

CTATaTd]  SATAed Yl hIomsi

g ATer ?

(A) UE =R

(B) X =2

(C) T

(D) Te=mm

Helg AT SHeTehdl HETRUTIGIehT ShI0Te

grelt Tenfad el ?

(A) 1687

(B) 1726

(C) 1909

(D) 1924

21

[P.T.O.



37.

38.

The District and Sessions Judge

work directly under the control

Of e .

(A) District Collector

(B) Governor of State

(C) Law Minister

(D) High Court

Change in social culture and

values is a :

(A) Linear Change

(B) Up-down Change

(C) Circular Change

(D) Revolutionary

37. TSR ot v =iy 92

38.

MAY - 21316/III—C

BRENECISINEIR e TGN

(A) TSeasRy

(B) T4t

(C) fasfit =it

(D) S==arded

AT WEhdl ST AN 96a

............................. N
(A) @

(B) %al-3TENTHT

(C) o

(D) Hifashrt

22



39.

40.

Renuka Ray Committee
recommended for the establishment

of :

(A) Separate Ministry of Social

Welfare

(B) Separate Ministry of Education

(C) Separate Ministry of Law

(D) Separate Ministry of

Environment

New Economic Policy’s focus

is on :
(A) System Change
(B) Liberalising Control System

(C) Closure of Unviable Units

40.

MAY - 21316/III—C

(A) HHATSTH AU sl HAed

(B) Toiemome wds Used

(C) fode @as wae™

D) TR .

q9 ofTfefer eNTuUEn @
7 ..

(A) FIEA

(B) = fAg=vmened Arehaieh

(C) 8T Theh o

(D) Outright Privatisation (D) ¥ BISHTRI
41. The Incremental Model was 41, TOH-TEH G GREY
propounded by : A Ji&pd el
(A) H. Simon (A) TI. 9EEA
(B) Dror (B) R
(C) Follet ©) WA
(D) Lindblom D) feiesim
23 [P.T.0.



42. The various stages of Optimal Model

43.

(Dror) are interconnected by

channels of :

(A) Authority

(B) Responsibility
(C) Communication

(D) Command

Out of the following which is the
major cause of Cotton Grower’s
(Farmers) suicides in Vidarbha

region ?

(A) Wrong Policies of State

Government

(B) Lack of Water Supply

(C) Entry of Multinational
Companies in Marketing BT

Cotton, Seeds and Fertilizers

(D) Lack of Electric Supply

MAY - 21316/III—C

49, wRferfadfm wew (SR) ey =

(A) 3SR
(B) SEEERY
(C) HERU

(D) A=

43. faguidial &g IcIcH (SraH=r=)

TR Y@ R WeAeTdehl R

AqE ?

(A) TSI TEAA o=t &R0

(B) drvfl GLEGAr= ShHARd]

(C) &1.31. Sied ey d T Igied

foquE S9e 9w

(D) S qRegar=l HHa

24
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44. Jan Dhan Yojana is meant for : 44, STAER RS BISICIECHT
(A) Vocational Training (A) =Earaes fereo
(B) Housing (B) TfHim
(C) Banking and Insurance (C) waween enfor fom
(D) Higher Education (D) 3= forarm
45. MUDRA Bank’s (MiCI‘O-Unit 45' 1\1?[ a"'a?)a.l. %1 ......................... _q_l, ﬂ
Development Reforming Agency) Hed L0 3.
purposes is to help :
(A) dfgean THeEdia S
(A) First generation entrepreneurs
(B) Qieeemad
(B) Rehabilitation
(C) AT
(C) Reconstruction
(D) Revival of PSUs (D) GESe SUHA™ YAsia
25 [P.T.O.



46.

47.

Who has described ‘Modern State’ as

Administrative State ?
(A) Henri Fayol

(B) W. Willoughby
(C) Sheldon

(D) F.H. Finer

Distinction between private and
public administration initially

was :

(1) Scientific
(2) Accidental
(3) Convenient

(4) Popular

Select the correct answer :
A

(B) (1) and (2)

(C) (3) and (4)

(D) (4)

46.

47.

MAY - 21316/III—C

SMYFH T T THHE T e 3T
O HIUT o IR ?

(A) B wAE

(B) s=g, foretrsil
(C) e

(D) TH.TI. HER

s YA 0T WSt gemed TRt

A) (D
(B) (1) @i (2)
(C) (3) =T (4)

D) @)
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48. The first ‘C’ in POCCC functions | 48 <&t [POCCC] &Emed i ‘¢
means : RS I
(A) Co-ordination (A) =T
(B) Command (B) 3=
(C) Control (C) T
(D) Collaboration (D) IfeH
49. The Re-Inventing Government is 49, TgmR=im Tagimg a0
Iso known as ........cceeeeevvvunnnnne. . < - -
a0 KHown as A STBEe S
(A) New Public Management . .
(A) TdM <leh AT
(B) New Public Administration
(B) e @ik URIEH
(C) New Business Administration
(C) TEH ST WA
(D) New Administrative
Management (D) el YSMEehid AT
50. New  Public = Management | 50. ¥aciieh SFEEAMGAME] G
emphasises on : JEE 3TR.
(A) Social Equality (A) TSR FHE
(B) Lean Government (B) foHaM v
(C) Programme appraisal (C) HEHIE *-L@Iichd
(D) Management by objective (D) %&l@l&ﬁ SIS
27 [P.T.O.



51.

52.

The following is an art of

implementing welfare policies into

action :

(A) Social Administration

(B) New Public Management

(C) Development Administration

(D) New Public Administration

Final stage in the evolution of

Public Administration is :

(A) Search for principles

(B) Comparative study

(C) Concern for Public Policy

Analysis

(D) Development of New Public

Administration

51.

52.

MAY - 21316/III—C

EATIUeh! § hedUehl &R0 JeIerd

STHAT SOOI Shell TR

(A) IMHINTR  9ImEH

(B) Taciieh SHEEATIH

(C) fomm= wemEa

(D) olclich FRIEH

s gIMEAT=AT SHTET AfaR ey

EeiAdeh! kol ?

(A) AT I

(B) diifer A%

(C) HrasIer €Ru fageroomgsie

(D) Tacreh JRTEATEl e
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53.

54.

Which one of the following

characteristics is not identified with

Development Administration ?

(A) Change-oriented

(B) Result-orientation

(C) Client-orientation

(D) Value-orientation

‘The staff must have passion for

anonymity.” This statement is

associated with :

(A) Hoover Commission

(B) Fulton Committee

(C) Gorwala Committee

(D) Brownlow Committee

53.

54.

MAY - 21316/111—C
WAk hIvT Tk fogroar feerma

gemeART ffed A ?

(A) SETHHE

(B) freprenfaga

(C) UTeshTTIHE

(D) HeAvqge

FHHEHY e S1favrE eee 9
gfgst. & faema ar=amwi gefuq

AR

(A) geR |fHdt

(B) ®ee Gftt

(C) TRaTe |fydt

(D) sifel |fHdt

29
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55.

56.

57.

Line Agency is principally a :
(A) Functional subdivision
(B) Coordinating system

(C) Advisory agency

(D) Vertical relationship

The concept of “one subordinate and
one superior” is associated with :
(A) Hierarchy

(B) Unity of command

(C) Centralisation

(D) Span of control

Who

described the classical

approach as the Engineering

Approach ?
(A) Gulick
(B) Fayol
(C) Urwick

(D) Mooney

56.

57.

MAY - 21316/III—C

(A) wEfcHs  SUfaym

(B) §H<ISR FqEq

(C) FeamR  AfYeho

(D) SEATHT Haie

Teh s30T Teh HiT3 & Hehedl

(A) TSHIH
(B) = Wehal
(C) whiganIo

(D) THa=ror =mem

“eafusa gftein wUS At TR

gfedr’’ o FoN e oM ?
(A) Tferen
(B) At

(C) o=

D) 1
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58.

59.

Non-developmental administration

is also known as :

(A) Financial Administration

(B) Personnel Administration

(C) Traditional Administration

(D) Welfare Administration

Principle of scalar chain was

advocated by :

(A) Henri Fayol

(B) Urwick

(C) F.W. Taylor

(D) Barnard

58.

59.

MAY - 21316/III—C

R-farE@m T =S

(A) Toxdig 9

(B) whifHer 99T

(C) URUIh wemed

(D) Ao gRIEA

U \Ee awd vl Jiaued &l

g ?

(A) &0 ®aA

(B) g

(C) ThIE=Y. <R

(D) sHE
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60. Which of the following is relevant

61.

to span of control ?

(1) Nature of work

(2) Personality

(3) Age of agency

(4) Location of original units

Select the correct answer :

(A) (2) and (3)

(B) (1), (2) and (3)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

The success of a hierarchical system

primarily depends upon :

(A) Decision making

(B) Control

(C) Coordination

(D) Mutual faith

MAY - 21316/III—C

60. =91 &= WeieAUeh! ShIvcAT SZhTIN

61.

qay e ?

(1) M @W&q

(2) AR

(3) STfeRTu=l Shrcrat
(4) o5 EHE &
I Tatg e

(A) (2) Fmfor (3)

(B) (1), (2) wfwr (3)
(C) (1), (2) 3o (4)

D) (1), (2), (3) =0T (4)
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62.

63.

“One wheel (alone) does not turn and
keep the cart in motion.” Who is the

other wheel in Kautilya’s

Arthshastra ?

(A) People

(B) Army

(C) Amatya

(D) Kosh

“Business like the administration of
government may and should be, but

it is not business.” Who said it ?

(A) Woodrow Wilson

(B) Elton Mayo

(C) Mary Parker Follett

(D) Herbert Simon

62.

63.

MAY - 21316/III—C

Tk 9ok (hales) ThTeH TeAmet Tdl <

STehd TRl ShifCeaTea STRTETTIR TR

ek IO e ?

(A) @

(B) ¥

(C) =

(D) et

YT WA SR 3T8e dl
TP qAg 9 FIE e T o

"I R ?
(A) g foee
(B) Teed HAI
(C) T T wieR

(D) B2 HHHA
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64. Development Administration does

65.

not refer to :

(A) Administration of Development
Programmes
(B) Strengthening of

Administrative Capabilities

(C) Developing Political Culture

(D) Planning and Capacity

Building of Institutions

According to F.W. Riggs, which of
the following is not an element of
the overlapping feature of the

Prismatic Society ?

(A) Polycommunalism

(B) Polynormativism

(C) Formalism

(D) Nepotism

65.

MAY - 21316/III—C

(A) T FRHA™ T9TEA

(B) 93E{Teh &Har GEIeh ol

fa o ~

[Aeh[Hd V]

(C) TSThT Tl

(D) T e 9 emar fAfdd

ATTehTcHesh  GHTST  qLEqidd! éf?lw

EteTieh! ShIoTeal SfyTsenid 3d el ?

(A) SHETE
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66.

67.

Who put forth the concept of

constructive conflict in an

organisation ?

(A) Elton Mayo

(B) Mary Parkar Follet
(C) Max Weber

(D) Henry Fayol

The ultimate activity in Simon’s

decision-making is :
(A) Planning

(B) Designing

(C) Choice

(D) Evaluation

66.

67.

MAY - 21316/III—C

gEEA=A] {EAdid GEOi=l Hheudl

TCAcUsh! v ASel ?
(A) Teed

(B) #{ et Wice

(C) W deR

D) &0 HAaA

T ot gfeda graedt

(A) THamH
(B) 9afg-w=A
(C) Ters

(D) AR

, , 68. THTH HILITI 1101 T fesromen geef
68. Management by integration and
self-control refers to : g .
(A) Need hierarchy theory (A) TS FEHEE ST
(B) Theory X B) ‘&' g
(C) Theory Y (C) ‘7' fagm
(D) Path-Goal Theory (D) wg-= g
85 [P.T.O.



69.

70.

The crux of development

administration is :

(A) Technological change

(B) Cultural change

(C) Political change

(D) Societal change at large

Major characteristics of national

bureaucracies in developing

countries are :

(A) Basic pattern of administration

is imitative rather than false

(B) Deficiency in skilled manpower

necessary for development

(C) Wide spread discrepancy

between form and reality

(D) Dominant Political party

mobilisation

69.

70.

MAY - 21316/III—C

[IehTd UYMEATET T4l

g e

(A) dIf& sed

(B) WiEhfdew agd

(C) TSThIT s

(D) A9k HHISeh oed

faaeiia e AH@EE 9@

Ifgr=y 7 SR

(A) TRTEATN JAYd TR 7 e

SR TR0 3TT”

(B) forsrmmardl mavgss hived Wi

A= AT

(C) drdfdendl g &1 e did e

(D) TSThIF g&I=l gl Tifaeiierd
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71. Assertion (A) and Reason (R)

Pattern :

Assertion (A) : W e b er s
bureaucracy model
is described as

‘Closed System
Model’.

Reason (R) : It considered
organization-
environment

intreactions.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 21316/III—C

71. faum (A) o &R (R) 2T®

faam (A) ¢ FdIE AHWIE
YTEUT &g oaawel
YIEY Y FUE Sl
S

HROT (R) : O HEA-TIATAI

Ad:fHan A= .

arell fooied FehdishMyd Ira 99
ferer -
Wehdieh :

[a) ha

(A) (A) 9 (R) =l seR 3ATed

(R) T (A) ¥ T TIRIHI 3T

[a

(B) (A) 9 (R) T

=~ N +
SR 3TTRd, T

(R) T (A) T T TILIHI TRl

(C) (A) T IR R, WG (R) T IH
3y

D) (A) ® 9% 3R, g (R) § R
Sl
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72.

73.

Which of the following activities are

included in staffing ?

(1) Recruitment

(2) Selection

(3) Transfer

(4) Promotion

Select the correct answer :
(A) (1) and (4)

(B) (1), (3) and (4)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

Single unified grading personnel

structure in UK was recommended

by :

(A) Haldane Committee

(B) Fulton Committee

(C) Northcote Trevelyan Report

(D) Atkinson Committee

72.

73.

MAY - 21316/III—C

TTATATHRT HIAT FAlaT GHTAT
FIHehael 3R ?

(1) Wt

2) fae

(3) el

(4) it

I g e
(A) (1) =7for (4)

(B) (1), (3) =1 (4)
(C) (1), (2) =nfor (4)

(D) (1), (2), (3) =0T (4)

TASHE] Tsh ThIcHeh &Idhd HITHS

[a o

e TR

IO het ?
(A) Bleed gyt

(B) Teed Hfyd!

(C) ideplc xfa™aq sTea™

(D) 3Teehid |itd
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74. The spoils system in the USA was | 74. 3TfRedial fosicam=t qe =acen oo
based pure]y on: e w WW 3:"%
(A) Patronage (A) TI&TRAT
(B) Kinship (B) ST
(C) Social status (C) gMIfSer <<t
(D) Political Considerations (D) TSR Hg
75. The principle of hierarchy of laws | 75. 3THRA el ShIACATAT SO qxa™
as embodied in the US Constitution,
............................ .qw.n.‘qa. .@ﬁ
establishes :
(A) Power of Judicial Review (A) —FEAH AR SR
(B) Congressional Power to Enact ]
(B) I hES] 0T IHFRR
Laws
(C) People’s Supremacy (C) SHad A3
(D) Emergency Powers of the
(D) TSI A0 AR
President
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